&

ARMENDUS

SUPPORT ARM & ENCLOSURE SYSTEMS.

248 ADAPTOR
( @48 Pano Baglanti Modulii )

TS EN 50085-1
TS EN I[EC 61439-1

WARRANTY

ARMO080.826

1 Sustali kolu yuvasina takiniz.
(Place the switch lever( M5x16) into its slot..)

Sustali kol, modUlin dénis sertliginin ayarlanmasin-
da kullanilir.

(The switch lever is used to adjust the rotational stiffness of
the module)

M5x 16

www.armendus.com

Kutu icerigi
Product Box Content

2 NG 520

1x 048

1x M5x 16

Contayi yuvasina takiniz.

(Fix the gasket info its seat)




3 Yiksek sizdirmazlik icin contalari kontrol ediniz.

(Check the gaskets for high sealing)

Montaijin $ekildeki gibi yapildigindan emin
olunuz.

(Make sure that the assembly is done as shown in the
picture)

4

Profili ok yoninde igeri dogru yerlestiriniz.

(Insert the profile into the coupling as shown in the
picture below.)

Setskur civatalarini takiniz.

(Tighten the set screw)

M5x20 (X2)

www.armendus.com




Sari renkli banti gikariniz. Yapigkan yizeyi igeri Yiksek sizdirmazlik icin contalar kontrol ediniz.
gelecek sekilde contayi yerlestiriniz.

(Check gaskets for high sealing)

(Remove the yellow tape. Place the gasket with the adhesive
surface inside)

ModUlU pano Gzerine yerlestiriniz. Saglikli bir montaj i¢cin modil ve panelin
baglantilarini kontrol ediniz.
(Assemble the module on panel)
Check the connections of the module and the panel for a
perfect assembly)

www.armendus.com




Civatalar kutu icerigine dahil degildir. Saglikli bir montaj icin modil ve panelin
baglantilarini kontrol ediniz.

(Bolts are not included in the box)

(Check the connections of the module and the panel for a
perfect assembly)

|
.

M6 x 30 (x4)

Pano Uzerine agilmasi gereken civata baglanti
delikleri ve kablo gegis delik dl¢ileri.

(Bolt connection holes and cable hole dimensions on the
panel if required for assembly )

o| ©

SIkS!

ol

< WO
63.00 eéo
82.00 g
95.00

www.armendus.com




